Decision 14:  Minimize capital cost + N years of operations.  N=?
Why is this an important question?

There will be many options that will decrease the operating cost with an increase of the construction price.  We need an answer to this question to evaluate which of these options are worthwhile.  Examples:

· Is it worth the R&D cost of LL cavities to reduce the power consumption used by the refrigeration system?

· How much more should we be willing to pay for more efficient modulators?  (Note this may not be a real questions as the Marx modulators are predicted to be both more efficient and cheaper.)

· The AC power distribution can be made more efficient at an extra cost.  The same is probably true of the cryoplants. What is the proper optimization?
Considerations
One could make N the total lifetime of the ILC, say 20 years.  This would then minimize the total capital + operating cost.  This is too high for two reasons.  It doesn’t take into account the time value of money and it doesn’t account for the fact that it is harder to get the initial capital than the operating funds.
DOE has an energy saving plan where they are will to pay for energy saving upgrades if they pay for themselves in 3 years.  Thus one could say that DOE thinks N = 3.
Recommendation

Use N = 5.






